
BMW R1200GS
Top Case Mounting Plate

Installation Instructions

www.adventurebikeshop.com.au

Honda CRF1000 Africa Twin
Radiator Guards

Installation Instructions

www.adventurebikeshop.com.au



Installation Instructions – 
Radiator Guards HONDA CRF1000L Africa Twin 

 
Thank you for purchasing a BUMOT parts  for your motorcycle. 
 
Please read through these instructions completely before starting installation.  Leave all hardware loose until all components 
are in place and initial assembly is completed.  Once everything has been installed, tighten all bolts snugly.  Do not apply liquid 
threadlock (LocTite or similar) to any bolt which has a self-locking nut.  
 
Installation Hardware Contents - 
 

 M 5 x 25mm Bolts – Qty 2 

 M8 x 20mm Bolts – Qty 1 

 M5 Washers – Qty 2 

 M8 Washers – Qty 2 

 10 mm Spacers – Qty 2 
 

Instructions – 
 

1. Remove the two OEM bolts and washers. 
 

 

                                     
 
 

 



 
2. Remove the three OEM bolts and washers. 

 
 

 

 
 

3. Remove the screw  which is  showed on the picture below: 
 

 
 
 

4. The same on the right side: 



 
 

5. Attach the left and right  rad guards with the two OEM bolts  M6x25 as showed on the picture: 

 
 
 
 
 



6. Attach the  rad guards on both sides  with bolt M5x25, washer M5 and the spacer M10 : 

 
 

7. Attach the horn with Bolt M8x20 and 2 x M8 washers as showed on the picture below: 

 
 
 
 
 
 



 
 

8. Tighten all bolts: 

 
 
 
 

 
BUMOT Motorcycle Luggage 
Ph:+359 887 649 709 
www.bumot.eu 
info@bumot.eu 
 


